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SCREENING TEST FOR THE POST OF
MANAGER/PROJECT MANAGER DIC

Time Allowed : 2 Hours] [Maximum Marks
1. Find the correctly spelt word :

(A) Leiutennant ' (B) Leiutenent

(C) Leftinant : (D) Lieutenant

2. Find the correctly spelt word :

(A) Acquiescence (B) Acquisence
(C) Acquisance ' (D) Acquissance
3. ‘Even Homer sometimes nods’ means :

(A) Homer has very poor knowledge.
(B) Homer is very lazy.

(C) Nobody is perfect.

(D) Homer is perfect.

4. ‘Belly up’ means :

(A) Injured belly (B) To go bankrupt
(C) Very heavy belly (D) Sleeping with belly up
5. Choose the correct sentence :

(A) She is interested on learn French.
(B) She is interest in learning French.
(C) She is interested in learning French.

(D) She is interested on learning French.
DIC-2015—A 2
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10.

Choose the correct sentence :

(A) Nobody has did something yet.
(B) Nobody have do anything yet.
(C) Nobedy has done something yet.
(D) Nobody has done anything yet.

The whole organisation was built around him.

In the sentence ‘around’ is .......cccoceeenee .
(A) Adverb (B) Preposition
(C) Noun (D) Adjective

He’s clearly been around.

In the sentence ‘around’ 1S .......cccoovevieen x

(A) Adverb (B) Verb

(C) Preposition ; (D) Conjunction

Choose the best alternative, meaning of the given word :

Lethal
(A) About to die (B) Unlawful
"~ (C) Barbarian (D) Deadly

Choose the best alternative, meaning of the given word :

~ Affable
(A) Helpful (B) Friendly
(C) Lovely (D) Kind

DIC-2015—A 3
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11

12

13.

14.

15.

Choose the wrong pair of cries or voices :

(A) Asses —  bray

(B) Bees —  hum
| (C) Swans —  cry

(D) Dogs —  bark

Choose the wrong pair of young ones :

| (A) Frog -—  tadpole
(B) Lion — cub
(C) Horse — colt
(D) Cat — calf

Antonym of Frown :

(A) Loss (B) Sorrow

(C) Demerit - (D) None of these
Synonym of Yield :

(A) Submit CB) Idle

(C) Permit ' (D) Accomplish
Choose- the correct sentence :

(A) In the morning we goes shopping.

(B) In the morning wé went in shopping.

(C) In the morning we went for shopping.‘

(D) In the morning we went shopping.

DIC-2015—A 4



16.

17.

18.

19.

20.

Choose the correct sentence :

(A) We visited all the famous sightseeing places.
(B) We saw all the famous sights.

(C) We saw all famous sights.

(D) We saw all famous sight.

Which part of the sentence has an error ? If there is no mistake, the
answer is ‘No error’.

At school I wasn’t interested in learning Sanskrit. No error

(A) (B) (C) (D)
(A) At school
(B) I wasn’t

(C) interested in learning Sanskrit
(D) No error

Which part of the sentence has an error ? If there is no mistake, the
answer is ‘No error’.

Several passers-by stopped to look at the strange car from the curiosity. No error
(A) (B) R (e (D)

(A) Several passers-b-y

(B) stopped to look at

(C) the strange car from the curiosity

(D) No error

Find the ‘Odd’ word :

(A) Hoard (B) * Horde
(C) Nomads (D) Gypsies

Pick out the most effective word from the given words to fill in the blank
to make the sentence meaningfully complete.

Saudi women were not ...........ccceeeunnnne. to go out to work.
(A) Appointed (B) Permitted
(C) Authorised (D) None of these

DIC-2015—A 5 P10



21.  If the digits in the number 86435192 are arranged in the ascending order,
what will be the difference between the digits which are second from the right

and fourth from left, in the new arrangement ?
(A) One - (B) Two
(C) Three (D) Four

|

22. Ifin a certain language LATE is coded as 8&4$ and HIRE is coded as 7*3$,
then how will HAIL be coded in the same language ? :

(A) 7&8* (B) &T7*8
(C) T*&8 (D) 7&*8

23. How many 4s are there in the series below which are preceded by 8 and

followed by 0.
840480480480840804804840804
A) 1 | (B) 2
(C) 3 (D) 4
24. Find the odd one out :
(A) Cuboid (B) Pyramid
(C) Cube (D) Pint

25. One number is twice the second number. Second is twice the third and

third is twice the fourth, how many times is the first number of the fourth

number ?
(A) 8 times ' (B) 4 times

(C) 6 times (D) Y% times
DIC-2015—A 6 '



21.

22.

" 93,

24.

25.

T 86435192 # Afg 311 #1 9 g¢ F9 ¥ =maftyd fFa 93 @ =@ T4 smaEn
# 39 T A fra v B St T R Ued W gEd ¥ el ad @ wed w AR
g 2

(A) T B @

(C) = (D) =W

et fade s d aft LATE #t 8&4$ & %2 fFan wmr § 3k HIRE 1 7#3$

§ g fem e %, @ S oww § HAIL 91 @9 sz few @ 2

(A) T&8* | (B) &7*8

(C) T7T*&8 (D) 7&*8

Fresfefam it % 23 et 4 % Rt TR 8 ¥ R AR A 0 % 2
840480480480840804804840804

@ 1 . B) 2

(C) 3 D) 4

Frerfefan & @ fom 3 TE -

(A) =19 | (B) fuifie

(C) = (D) fu=

T wem g e i A & | qud den ded = A ¥ i dd wen

Sof # 2T ¥, Tt wew, D wen W fReR TH ¥ 2

(A) ST (B) SR

(©) B (D) % T
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26.

27.

28.

29.

30.

Pointing to a man, Praveen said “His daughter Meena is the granddaughter

of my mother, the man is :

(A) Praveen’s father (B) Praveen’s brother
(C) Praveen’s friend (D) Praveen’s uncle
Governor : President : : Chief Minister : ?

(A) Commissioner (B) Attorney General
(C) Justice ' (D) Prime Minister
Assuming “Every library has books” it follows :

(A) Only libraries have books

(B) Some libraries don’t have readers

(C) Libraries are staffed

(D) No library is without books

If MADRAS is NBESBT, then LAHORE will be :

(A) NCJQTG (B) NBIQSF

(C) MBUPSF (D) MBIPSF

Six students A, B, C, D; E and F are sitting. A and B are from Mumbai,
rest are from Delhi. D and F are tall, but others are short. A, C and D are

girls, others are boys. Which is the tall girl from Delhi ?
(A) F (B) E

(C) D (D) C

DIC-2015—A 8



%6. T To F ST F g A ¥ ww www o d A A o R

 YE HE % 2
(A) warg & fuan | (B) W™ w1 9
(C) waa =1 fom - (D) weT & =

27. TS : UAfd : : G HAH ;7
- (A) FEE (B) werEEw!
(C) =amrfd ' (D) wHuH "

28. WA & “ueid TWwed § T §, 98 o 99Eal ¢ 7
(A) T Had g A §
(B) %9 TWHIGE ¥ Wed T ©
(C) Toaed § HHan §

- (D) wE o g o gEel B TR

29. 3 MADRAS #! NBESBT #d ¥, @ LAHORE ¥ @ ?
. (A) NCJQTG (B) NBIQSF
(C) MBUPSF = (D) MBIPSF

30. @: famnefl A, B,C, D, E RF &% | AR B g=E ¥ % 9 foeelt & T
DIRFoa E afFs s 3R ¥ 1 A, CIRD wefel €, o s € | el
Y o deHt BE § 2

(A) F ' (B) E

(C) D M C
DIC-2015—A 9 P.T.O.



31.

32.

33.

34.

35.

Saroj purchases 20 liters of milk at Rs. 4 per liter and dilutes it with water
to increase the content to 22 liters. In order to earn a profit of 10%, he

should sell the milk at :
(A) Rs. 4 per liter (B) Rs. 4.10 per liter
(C) Rs. 4.20 per liter (D) Rs. 4.40 per liter

By increasing the speed of car by 15 km/hr, motorist covers 300 km in an

hour less than before. The original speed of the car was :
(A) 50 km/hr (B) 75 km/hr
(C) 45 km/hr . (D) 60 km/hr
Complete the series :
o8, AT WIS, TU2T; ciovesvss
(A) 15/29 | (B) 13/25
((;‘) 16/31 (D) 17/33
If 3/16 of a tank is filled in 15 minutes, the rest of tank can be filled in :
(A) 55 minutes (B) 60 minutes
(C) 65 mix’mtes - (D) 70 minutes

The radius of a wheel is 7 ecm. How many revolutions will it make in moving

44 km ?
(A) 2000 (B) 10000
(C) 70000 (D) 100000

DIC-2015—A 10



31.

32.

33.

34.

35.

TS 4 T wfd @ieX &1 X ¥ 20 & Y Wl ® R @i e faeret ot
A 22 ST #wa ¢ 1 3™ 10% AW w9 B fau 3@ gy # few = | S=
g ?

(A) 4 % ¥fa &ex (B) 4.10 %. yfq wirex
(C) 4.20 . "fa &Tex (D) 4.40 %. wfg @ex

TF FR H fd H 15 fEd/ga 9gn | FR 9w 300 R # gf  fwifa
99 9 UH HA B # YU H A € | FR H IR fa g ooff 2

(A) 50 fawsi/== \ (B) 75 fewsi/==1
(C) 45 fwsi/ == (D) 60 fwdl/==
frefafea Soit =1 qoi Fifsg .

2/3, 4/7, 7/13, 11/21, ..........
(A) 15/29 | (B) 13/25
(C) 16/31 (D) 17/33

gfe wH BN H1 3/16 9 15 fie 3 wwar ® @ &9 &1 9w oy fay wwg A
o ?

(A) 55 fFe (B) 60 foe
(C) 65 fae (D) 70 o
T i & Gom 7 ¥ ¥ 1 38 44 felt wem & faq fea ool @ 2
(A) 2000 (B) 10000

(C) 70000 (D) 100000

DIC-2015—A 10 BT,



36.

37.

38.

39.

40.

Angle between the minute hand and the hour hand when the clock shows
8.30 a.m. is :

(A) 75 degree (B) 60 degree
(C) 37.5 degree (D) 65 degree

10 sheep and 5 pigs were bought for Rs. 6,000. If the average price of a sheep
is Rs. 450, find the average price of the pig.

(A) Rs. 350 (B) Rs. 410
(C) Rs. 340 (D) Rs. 300

A flag pole 18 m high casts a shadow 9.6 m long. What is the distance between
top of the pole and the far end of the shadow ?

(A) 20 meters (B) 20.04 meters
(C) 20.40 meters (D) 24 meters

In a factory, the production of scooters rose to 48,000 from 40,000 in 2 years.

The rate of growth per annum is :
(A) 20% (B) 10%
(C) 30% (D) 8%

A dealer buys an article for Rs. 380.00. What price should he mark so

that after allowing a discount of 5% he still makes a profit of 25% on the

article ?
(A) Rs: 500 (B) Rs. 475
(C) Rs. 95 (D) Rs. 465

DIC-2015—A 12



36.

37.

38.

39.

40.

Ifg wF =t 8.30 Yaie 3 Wi @, A foge &1 g 3R 92 &1 gE & " w1 wm
fepaam 2 2

(A) 75 feut (B) 60 feut
(C) 37.5 feui - (D) 65 fett

10 921 3R 5 g3l &+ 6,000 & H @l T | IR TH AT F NWd A
450 ®. ¥, @ TH F3R F 3AEd god FaRT |

(A) 350 & (B) 410 =.
(C) 340 =. (D) 300 %.

T&F 18 |l Ha He FH WU 9.6 H o= BE I6@I &, O @Y HT € AR B
& Ty @t =+t o9 %1 g fEa a2

(A) 20 H=X (B) 20.04 HieX
(C) 20.40 T : (D) 24 X

TH Thaed § 9 Ul H el H1 IR 40,000 ¥ 48,000 & A | wfa @9 gfg
L F B 2

(A) 20% (B) 10%
(C) 30% (D) 8%

TF AR TF 9% F1 380.00 T H TlEH ¥ | W 3T 9% F ged. fran w@m
=ifee fof 3@ W 5% T2 37 W ot 98 3§ a9 W 25% W FHH Heh ?

(A) 500 = (B) 475 =

(C) 95 =. (D) 465 =.

DIC-2015—A 13 PO



41.

42.

43.

44.

Which of the following statements is incorrect about the Pradhan Mantri Jan-

Dhan Yojana (PMJDY) ?

(A) Accidental Insurance cover of Rs. 1.00 Lac

(B) Life Insurance cover of Rs. 30,000

(C) Easy transfer of money across India

(D) Overdraft facility available to éach accountholder

Which of the following is not true about the International Day of Yoga ?
(A) Yoga is the perfect substitute of modern healthcare.

(B) Yoga provides a holistic approach to health.

(C) This Day is adopted by the 69th Session of the UN General Assembly,
(D) This is observed on 21st June.

Who among the following won the Mixed-Doubles title of the 2015 Australian
Open ?

(A) Maria Sarapova and Novak Djokovic

- (B) Martina Hingis and Leander Paes

| (C) Kristina Mladenovie and Daniel Nester

(D) Sania Mirza and Bruno Soares
When is the National Girl Child Day observed ?
(A) 25th January (B) 24th January

(C) 23rd January (D) 22nd January

DIC-2015—A 14



41.

42.

43.

14.

FUAT SH-91 qor B Ty # fre § F S s ul@ a8 & 2
(A) 1.00 @ FT9F1 F1 THSAT ST T

(B) 30,000 991 1 S{faq ST &aR

(o) mmﬁmmwﬁrﬁﬁm

(D) ¥I% @AY 1 5,000 TR 91 0 1 SRR gia
AT 4 foom & gy § iy § @ 9 v 78 ¢ 2
(A) AN Ny @WrReg-Ta &1 399 WHEYE & |

(B) M @wWrem & fau 99w gfesv wem @ §

(C) 7' feam ¥yw U Wemyl % Iewd §9 § WHey Wigd Ha T |

(D) F§ 21 §F H TAE AT

= 7 @ fraa 2015 sefaard ofwa & fufs-ga &1 foae shar 2
(A) e TR SR e S

(B) =i feéfirm v feder 9

(C) frE wrfas 3R fge ==

(D) wifran fasl ik 31 diema

T difcien a9 &9 79@ 9 & 2

(A) 25 Sal (B) 24 et

(C) 23 “Fad - (D) 22 S

JIC-2015—A 15
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45.

46.

47.

Which of the following was the venue for the UN Framework Convention

on the Climate Change (December 2014) ?
(A) Rio (B) Lima
(C) New York (D) London

Which of the following cities have recently been decided by the Union

Government to be developed as Smart Cities ?

(A) Gorakhpur and Mathura (B) Dehradun and Dharamshala
(C) | Aurangabad and Sirdih (D) Sri Nagar and Shimla

Who bf the following waé given Nobel Prize for Economics in ‘2014 ?
(A) Jean Tirole (B) Kailash Satyarthi

(C) Patrick Modiano | (D) Isamu Akasaki

For role in which film Eddie Redmayne was given the best actor award in

the Oscars Academy Awards 2015 ?
(A) Birdman (B) Boyhood

(C) The Theory of Everything (D) Still Alice

DIC-2015—A 16



45.

46.

47.

48.

fr # Q Fel Joerg tiedt | G35 T WY g9 (feemr 2014) mifSa

T ?
(A) i | (B) fom
(C) =+ ; (D) &=<A

9 TR Y = TR 4 ¥ Y ‘o fods’ & w9 A fawfaa w0 &1 duen

T ?
(A) TRE@R IR "YW (B) RwGA M Al
(C)aﬁﬁmaﬂ?m (D) AR I fagen

2014 ¥ dymey & fou fFE Ao R @ ™ ?

A) & faie '(B)a‘%amwzﬁ

(C) Hfew wAifgsm (D) 39 FFTH!

2015 & fFd FFRH FaEy § e A w FE frew A yfvew & fau

gataq a1 grER fea e ?
(A) wEH | (B) =fags

(C) T < AH iy (D) fea e

DIC-2015—A 17 P10,



49.

50.

51.

52.

Which of the following statements is false ?
(A) India registered growth of 30% tigers during 2010-2014.
(B) Karnataka has the highest number of tigers in India.

(C) Karnataka, Kerala and Tamil Nadu recorded nearly 1/3rd tigers in the
country.

(D) India homes nearly 3600 tigers now.

What of the following was the theme of the 103rd Indian Science
Congress ?

(A) Science and Technology for Indigenous Development in India
(B) Science and Technology : Challenges of the 21st Century

(C) Understanding Weather and Climate

(D) Tiger Conservation

Who of the following has been recently made the CEO of Google ?
(A) Larry Page (B) Sundar Pichai

(C) Sergey Brin (D) Andy Rubin

The USTAAD Scheme launched recently by the government has set which
of the following objectives ?

(1) To train and upgrade skills of minorities.
(2) To assist the traditional weavers and artisans.

(3) To make traditional artisanal products competitive with modern
markets.

(4) To gradually accommodate the weavers in government jobs.
Choose the correct answer from the following :

(A) 1, 2 and .4 (B) Only 2 and 3

(C) Only 1 and 2 (D) 1, 2 and 3

DIC-2015—A 18



49. fm= # 4 Frn w9 @T T ?
(A) 2010-2014 % <RA 9Rd # = w1 = H 30% g & F= o O
(B) dfes H amdl #1 TN TIY R T
(C) e, Hia IR dafgerg ¥ 39 & T 1/3 a9 § |
(D) 9d # 3@ @M 3600 @9 ¥ |
50. 1039 yrdra fagm w0m o = 4 9 ga fawg =0 91 2
(A) wra # v fowm & fou fagm iR asAret
B) fomm i w21 WA R
(C) #HEH 3R Soaryg a9

. (D) @m e

5. wa @ A fe § @ @ e F didel @ g ¥ 2

v (A) T T (B) F=X fo=mg
(C). & fom ' (D) TET #ed

52. @ @ # TR gW URY fEA MU ‘SR’ @ % ded e § 9 A 3589
W@ M ?

(1) TSR & HYE H dead 3R ufegm |

(2) URURE FAHU AN TEEHR H HIG HEAT |

(3) URGf T IR F yte 9w # wfoerdt sEmn
(4) - SEFHG F GEA ABRE § gEEfTd w0 |
= 4 8w W 9

(A) 1,2 3R 4 B) faw 2 3 3

©) foF1aime D) 1,2 33
DIC-2015—A 19 P.T.O.



53.

54.

53.

56.

Who has recently been given the Rajiv Gandhi Khel Ratna Award ?
(A) Leander Paes (B) Sania Mirza

(C) Mahesh Bhupati (D) Sachin Tendulkar

Which of the following are true about thé NITI Aayog ?

(1) Narendra Modi is its Chairperson.

(2) Arvind Panagariya is its Vice-chairperson.

(3) K. Saraswat is its part-time member.

(4) Sindhushree Khullar is its CEO.

Choose the correct answer from the following :

(A) 1, 2 and 3 (B) 1, 2 and 4

(C) Only 1 and 2 | (D) 2, 3 and 4

Who is the President of the New Development Bank (BRICS Bank) ?
(A) K.V. Kamath | (B) Bibek Debroy

(C) Jagdish Bhagwati (D) Raghuram Govind Rajan

The Rajiv Gandhi Illuminating Scheme for Hill Town Advancement (RISHTA)
project launched by the Himachal government emphasizes on which of the

following ?

(A) LED based street lighting in urban areas.

(B) LED based street lighting for urban local bodies.

(C) Saving electricity consumed by the local urban bodies by 45 to 55%.

(D) All of the above

DIC-2015—A 20



53. @A & # faHe Tsia i Sene R e o 2
(A) fedet 99 (B) wifyan fasi
(C) wew sufa (D) |fEA dgea
54, Hifda sm & gy § 9 9 @ FAw AR ¥ ?
(1) 5 A6l 39 Ay § |
(2) sRfa= wPRE 39 3WHAE §
(3) . UNEd THh INUFNcH TGH T |
(4) foryst goer 9@ @il €
= 4 3 '@ W g
(A) 1,2 3R 3 (B) 1,2 3R 4
(C) faw 1 3R 2 (D) 2, 3 3 4
55. ] Soamie g% (foem 9%) & Ay F9 ¥ 2
(A) Al FWY (B) fas= ?‘:ﬂﬂa’
(C>WT§"T¥'WTHH°I (D) TRM M= T
56. fearge @R 3w ¥E & m ‘foo’ ofEs = 5 8 fF 9| woad
@R ?
(4) T 8§ S A e awfen
(B) WA W e § o e Wi anfan
(C)mﬁuwm.ﬁwﬁgmmfﬁmt%ﬁqaaﬁm@ss%m'
(D) I7gF |t
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57.  Who of the following have been given Arjuna Awards in 2015 ?
(A) MR. Poovamma, Kidambi Srikanth
(B) Sania Mirza, Mahesh Bhupati
(C) Saina Nehwa], Viktor Axelen
(D) P.V. Sindhu, Parupalli Kashyap
58.  Who of the following is the CEQ of Microsoft ?
(A) Sundar Pichai (B) Satya Nadella
(C) K.V. Kamath (D) Meghnad Desai
159. The UN General Assembly declared 2015 as :
(A) International Year ot: Environment
(B) International Year of Peace
(C) International Year of Soils
(D) International Year of Biodiversity
60. Where was the venue of the 2015 BRICS Summit ?
(A) Russia (Ufa) (B) Russia (Moscow)

(C) China (Shanghai) (D) India (Delhi)
DIC-2015—A 22



57. ﬁn'ﬁﬁﬁézolsmaﬁamﬁmw?.
(A) TH. FR. qEE, fEemEn i
(B) Wit foif, wewr spofd
(C) T Feard, oy e
(D) . =t foy, TeUeEl HvAd
58. fr=a # ¥ 39 TEEEE & H@. 3 . ¥ 2
A) g =i (B) T el
(C) . ot FMY (D) AITR <HE
| 59, TEE T e I 2015 HI uifvd fEA ¥
(A) FiEE Tt
(B) siquedra wifq &
(C) S J&1 =
(D) iR Safafara
60. 2015 fomm ToieH wel @A I 7
(A) 9 (3FI) (B) ®F (W)

(C) =H (IEE) (D) wa (feeet)
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60.

DIC

61.

62.

63.

64.

65.

Which country ranked number one in the World Happiness Report, 2015 ?
(A) India (B) China

(C) Switzerland (D) Sweden

Which of the following country is the' 161st mémber of the WTO ?

(A) Lithuania (B) Morocco

(C) Seychelles (D) Maldives

What was the theme of the World Day against Child Labour, observed on
12th June, 2015 ?

(A) ‘No to Child Labour—Yes to Quality Education’
(B) ‘Child Labour—Dark Future’

(C) ‘Child Labour—Health Hazard’

(D) ‘Make world free of Child Labour’

What is the minimum gold deposit required to avail the benefits of the Gold

Monetisation Scheme recently proposed by the government ?
(A) 10 gram (B) 20 gram
(C) 30 gram (D) 40 gram

Ammu, the great hornbill, was the mascot of which of the following

games 7

(A) 2015 Kerala State Games

(B) 35th National Games

(C) 2014 Natidnal Games

(D) 2015 National Hockey Championship .
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61.

62.

63.

65.

fasa%uiﬁvﬁq\i,zmsﬁﬁwﬁ@aﬁwémsﬁém%?
(A) 94 (B) =M

(C) fegers (D) e

frmr B ¥ @ 3 fave SR WA FO1618 wWHE T 2
(A) fagsufmar (B) HREH

(C) TF=TE | (D) W

o
e sm @ faeg fave faw (12 99, 2015 1 W@ ) H geA faw
q ? : ‘

(A) ‘are g9 @ M—ToneEs foar
(B) ‘@@ HH—FUFERAA g’

(C) ‘=@ HH-—WRE H G

(D) ‘fava 1 A 5W HE ST

mﬁﬁmmmm&mnﬁmmﬂﬁﬁqmmum@fm
=am e A S F SE] T 2

(A) 10 T (B) 20 W™
(C) 30 TH (D) 40 7™
ﬁwﬁ%ﬁa@am.ﬂﬁwm(ﬁﬂzm)m?
(A) 2015 @ T B

(B) 3531 U=E B

(C) 2014 TLHE €
(D) 2015 T et S
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66. IIFA Award 2015 for the best film was given to :

(A) Queen (Hindi) (B) Bhaag Milkha Bhaag

(C) Barfi (D) Zindagi Na Milegi Dobara
67. The book—Forge Your Future, recently in news, has been written by :

(A) Williams Collins (B) Neel Mukherjee

-~

(C) A.P.J. Abdul Kalam (D) Chetan Bhagat

68. Whose appointment as Head of the Film and Television Institute of India

(FTII) became controversial ?

e
Jr’ (A) Nana Patekar (B) Gajendra Chauhan
b (C) Shahrukh Khan (D) Amir Khan
69. The Launch of the Rashtriya Avishkar Abhiyan was presided over by :

(A) A.P.J. Abdul Kalam (B) Anil Kakodkar
(C) Kasturi Rangan (D) M.S. Swaminathan

60 70. Who is the President of the Asian Infrastructure Investment Bank ?
(A) K.V. Kamath (B) Jin Liqun
(©) Sat).fa Nadella ' {D) V. Putin

DI
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66. FIw frew & fau [IFA &R 2015 f= d @ fed fean mn 2
(A) = (f&=) (B) wm fawan wm
(C) i (D) ot =1 faerft gam

67. w@ @ A B W wE TwE w9 @, e s I ¥ 2
) faferm e (B) e gt
(C) U . I FEA FeH (D) ¥ wE

68. fr=1 # A frus! frgfm e omom. & 7= 3 ¥ § faareR 7 wi ?
(&) T T (B) TS= M
(C) vmee® @M (D) AR @A

69. U= afawrr AP #1 yEema fa § | el sea@ 83 fF w2
(A) T W 3. HAFA HAaH (B) A FHIgHt
(C) Awgﬁivm (D) TH. TH. @HAYA

70. UER EREFR FARHC 9% % FUIM dH § 7
(A) . . w=WY (B) fom for=

(C) ¥E Teeel (D) ot gfaH
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72.

73.

74.

75.

Who has recently been appointed as Head of the Amnesty International

India ?
(A) Aakar Patel N (B) S. Somnath
(C) Hardik Patel (D) Nirbhay Sharma

Who was the developer of the famous Rock Ga?den in Chandigarh ?
(A) Nel; Chand Saini (Bj Ashok Kumar Agarwal

(C) Krishna Kant Pal (D) Jasjit Ahluwalia

‘4538 Vishi Anand’ — a minor planet named after whom of the following ?
(A) Ketan Anand (B) Vishwanathan Anand

(C) Abhayanand (D) Vishwanand

Mithali Raj is the captaiﬁ of which women sports team of India ?
(A) Badminton (B) Table Tennis

(C) Cricket (D) Hockey

On which of the following date the World Toilet Day is observed ?
(A) 16th November (B) 17th November

(C) 18th November (D) 19th November
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71.

72.

73.

74.

75.

méﬁmmm%maﬁwmﬁqﬁw@%?
(A) = 9 (B) TE. 9y

(C) wféw wa (D) fsfa wm

IS & Ahiud Ud MeA H fFua fawfaa fFan 2

A) % == & : (B) 39l HAR IwETE

(C) Fo1 FT< e (D) SIESitd recqatera

‘4538 favt aFe’ — wF @Y e W = § ¥ fom faerEt & W W w@n

™% ?
(A) FHdd IS (B) favemem s1rg
(C) 399Te (D) favam=

fr # @ 9y =t few wfeen wdw dm #t Fam foaet o9 § 2
?A)ézfda () W W

(C) fwae (D) feh

fm § § fom f7 fava vimem fGew w3 s & 2

(A) 16 TomER (B) 17 TamR

(C) 18 FFw=R (D) 19 Fa=R
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76. Who is the new chief of the Research and Analysis Wing (RAW) ?
(A) Ranjit Sinha (B) Rajinder Khanna
(C) Vijay Sharma (D) K.M. Mani

77" ‘Subodham’ Scheme for prohibition of alcoholism and drug addiction has been

Jaunched by which of the following states ¥
(A) Karnataka (B) Tamil Nadu
(C) Kerala (D) Maharashtra
78. In which month the Prime Minister inaugurated Digital India Week ?
(A) May 2015 | (B) June 2015
(C) July 2015 (D) August 2015
79. Who is the Chairperson of the Commission on Global Poverty ?
(A) Haroon Bhorat ~ (B) Anthony Atkinson
(C) M.V. Kamath (D) Kaushik Basu
80. When is the World Food Day observed ?
(A) 02nd October (B) 12th October

(C) 16th October (D) 22nd October
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76. fr= # ¥ @R W (e 4 wafofm fim) 2 wga & 2
(A) Ta o (B) TfSiEx &=
©) fawa i -, (D) #. wa. "

71. ﬁqﬁémmﬁ'maﬂzmﬁ%farwﬁuwaﬁ?
(A) Fe® A (B) dferTg
(C) =t (D) =eRTg

78. wuW W 7 fow wEm § ‘fefoea sfewn' wwre y& fFan 2
'(A) 7€ 2015 ‘ 4 (B) A 2015
(C) em 2015 ' (D) 3T 2015

'79. FUVA A THEe Uled F Ay FH g 2
(&) T i (B) Fdrf sifewd
©) T . FEY D) e Ty

80. fava wrE fGaw %= TA@ W@ ¥ ?

(A) 02 3R (B) 12 3RS

(C) 16 3N D) 22 IR
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81.

82.

. 83.

84.

85.

Which is the largest river in H.P. in terms of volume of water ?

(A) Satluyj (B) Yamuna

(C) Ravi | | (D) Chenab

Which human habitat is along the Jalal river in Sirmaur District of H.P. ?
(A) Paonta (B) Bagthan

(C) Teuni (D) Menus

In which district of H.P. is Karali lake ?

(A) Shimla (B) Kullu

(C) Sirmaur (D) Mandi

Which one of the following streams is a tributary of Spiti river ?

(A) Manalsu (B) Sujon

(C) Kabzian ' | (D) Bathar

Which stream divides Una District.of H.P. into two almost equal halves ?
(A) Swan . (B) Malhat

(C) Barera (D) Garni
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81. UMl H WM (EEA) & frmm A feurew wew # we@ wd @ w ¥ 2
(A) T (B) ag-
(C) (D) foma

82. fem Wew & o Fodt & wemer oA B P AR o (aw) F 2
(A) dfer | (B) @A
(C) ot (D) g

83. el Fe femma ww & frg fod § ¥ 2
(A) femen (B) e
(C) fawERr ‘ (D) wvEl

84. Tmfdafea 3 #md seum wifq &1 = gegs & 2
(A) HIeY (B) A
(C) s (D) =R

85. &Ml & feurad Ww & T A QA @ wuE fewd # wiedt ¥ 2
(A) =i (B) werEe

(C) =W (D)
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86. Which one of the following hot water springs is associated with Lord Shiva ?
(A)  Khirganga (B) Kasol
(C) Manikaran . (D) Tattapani
87. Chadwick falls in Shimla town are near ................. :
(A) Sanjauli | (B) Bhar;ari
(C) Tutikandi (D) Summer Hill
88. In which district of H.P. is i3hadal Glacier ?
(A) Lahaul-Spitil (B) Kangra
(C) Chamba ' (D) Shimla
89. In which district of H.P. is Narshing Tibba ?
(A) Bilaspur ‘ (B) Kullu
(C) Chamba | ‘ (D) 'Sirmaur
90. Which pass joins -Mandi and Kullu District;s of H.P. ?
(A) Jalori . (B) Dulchi

(C) Padri (D) Kugti
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86. frfafad & 4 =@ o Wt =1 =vw @ wEm ¥ g1 ¥ 2
(A) =raim | (B) Fdra
(C) =l (D) T
87. wefo® wum fymen TR # fags Todw ¥ 2
(A) el - B &
(C) vl (D) "R fea
88. wgd feue feowmet ww & fow o § & 2
(A) wge-Siifa (B) &ITeT
(C) =w ' (D) fomen
89. TR feea femraa ww & fog o § ¥ 2
(A) faemaT B) %=
(C) = - D f
90. feur=e wew & woLt iR Ho el 1 Fd uE Sed T2
(A) e (B) oA

(C) e D) FTE
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91. Where is Shoba Singh Art Gallery in Kangra ?
(A) Bharolian (B) Harchakian
(C) Nagrota-Bagwan (D) Andretta
92. Which stream swept away Chirgaon Village of Shimla District in 1997 ?
(A) 'Pabbar ' - (B) Andhra
(C) Baspa (D) Nogli
93. In which village near Karsog is Kamaksha temple ?
(A) - Kabo (B) Mamel
(C) Chindi _ (D) Pangna
94. At which place in Una District of H.P. is Panjgotra fair celebrated ?
(A) Amb (B) Babhaur
(C) Basholi (D) Ambota
95. With which region of H.P. is Bhunda festival associated ?
(A) Outer Seraj (B) Nirmand

(C) Katrain (D) Aut
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01. vienfEe @ fradt wimer # wA ¥ 2
(A) wEifer (B) ww=f®Al
(C) RrI-=rmaE (D) =L
92. fyen fo=t =1 s g fagmia 1997 # feq €t 4 =58 ™ @ ?
(A) TR (B) 3w
(C) =g (D) et
93. wHMEn ufel w@m & fwe few ma 7 ¥ ?
(A) = (B) =HA
(C) favEl (D) .rrivrvn
94. Ui den feuew WRw ® T o # fFE wH W 9 S g2
(A) I= (B) @R
(C) =Mt (D) 3=
95. yvel wer feume & fow &% @ Y31 8 ?
(A) =l faus (B) foive

(C) T ' (D) 3ie
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96.

gv.

98.

99.

100.

In which month is Sipi fair (near Mashobra) celebrated ?

(A) March (B) April

(C) May (D) June

In which region of H.P. is Baghlani dilect spokén ?

(A) Solan-Nzﬂagarh (B) Arki-Kunihar

(C) Dharampur-Kumarhatti (D) Baddi-Barotiwala

At which place in Una District is Government Poultry Farm ?
(A) Saloh (B) Anjoli

(C) Bangana (D) Thanakalan

When was the college of Agriculture at Palampur upgraded to the status of

a fullfledged Agriculture University ?

(A) 1976 ' (B) 1977

(C) 1978 (D) 1979

With which region of H.P. is Bonangchyu dance associated ?
(A) Kinnaur (B) Lahaul-Spiti

(C) Kullu (D) Sirmaur

DIC-2015—A 38



96. mm(wﬂaﬂ%q@rﬂﬁ)ﬁmﬁﬁmm%‘?
(A) ¥ (B) st
C) = ' ‘(D>G!3
97. =Har et feuEe Wew & e &3 H et I g 2
(A) HeE-TErg (B) srHl-HfER
(C) HHQ-FHAREE (D) =&-sRErETe
98. TN U wH F foa § fFw W W ¥ ?
(A) HeAE | (B) &isie
(C) amrvn o (D) @
99. W%ﬁwﬁmm%ﬁm,@m;ﬁ:ﬁmﬁﬁmw?
(A) 1976 # e | (B) 1977 #
(C) 1978 # (D) 1979 #
100. mwmmﬁmmaga%?
(A) =R (B) wgA-wHifa

(C) & (D) fawiR _
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